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28) Question:   Graph the following inequalities in the xy-plane below.  Which quadrant does NOT contain any 
solutions to the inequalities given below? 

  y ≥  
3

5
x + 4 

  y >  3x + 2 
 
A) Quadrant 1 
B) Quadrant 2 
C) Quadrant 3 
D) Quadrant 4 
nc 

 
Solution: 

 y ≥  
3

5
x + 4  inequality #1 

 y >  3x + 2  inequality #2 
 
The solution  for inequality #1 is spread in quadrants 1, 2 & 3. 
The solution  for inequality #2 is spread in quadrants 1, 2 & 3. 
 
i.e.  
The solutions for inequality  #s 1 & 2 do NOT lie in Quadrant 4. . . . . . . . . . . . .  Answer (D). 
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